14° AYKEIO NEPIZTEPIOY
KPITHPIO A=ZIOAOIMHZHZ XTH AIATA=H

OMAAA: A

ONOMA:........oei, EMONYMO:.....cooii,

1. Av XxX—yp>0T10T X>UY 2 N
2. Av2<x<y T10TE Xp>0 > A
3. Av 2<x<y T161E XY—y’>0 )3 A
4. Av x>1 1018 X*>1 b3 A
5. Avx>1 161E X 2>1 > A
6. Av x >1 ka1 y<2 1671¢ (1-X)(y¢-2) <0 z N

2 y
7. x2+(x2—x) >0vyla KGBe x e R z A
8. xX*—2x>-1 yiakdBe xR )3 A
9. Av 0<x<1710T1E X*—Xx<0 T A
10. o®+B%>0vyia KaBe o,peR )3 A
11. Av 5<1 TOTE X <Y > A\
y
12. Ava, <0 161¢ a+B>0ka1 aB >0 > N
13. Av B >0T16T¢ : E+E<2 2 A
B «a
14. loxUel 6T X* +1>2x yia k60e X € R p) A

KaAn Toxn!

Y1éMoc MiyamAoyiov



14° AYKEIO NEPIZTEPIOY
KPITHPIO A=ZIOAOIMHZHZ XTH AIATA=H

OMAAA: B

ONOMA:......cciiiiiie, EMONYMO:......coo,

1. Av %>1 10TE 0> > N
2. 0’ —4o>-4 yIOKGBE o eR b2 A
3. Av a-B<0 161 a<P > N
4. Ava>B>5 161¢ aB>0 > N
5 xX*+y*>0 ylakdBe x,yeR )3 A
6. Av 2<x<y TOTE Xy—y’>0 )3 A
7. Av x>1 101 X°>1 z A
8. Av a<1T101E O° <1 s A
9. Av x >3 kal y> 4 107¢ (3-X)(4-yw) <0 > N

10. (ocz—oc)2+(x2 >0 yia k4B o e R 3 A
11. Av 0 <x <1761 X*—%<0 s A
12. Ava, <0 161¢ a+B>0kaiaB <0 > N
13. Av X,y >0 161¢ : 5+X22 > N

y X
14. loxuel o1l X* +4 > 4x yio k40s X € R ) A

KaAn Toxn!

Y1éMoc MiyamAoyiov



14° AYKEIO NEPIZTEPIOY
KPITHPIO A=ZIOAOIMHZHZ XTH AIATA=H

OMAAA: T

ONOMA:. ..., ENQONYMO:....oiiiee,

1. Ava>p 101€c a—B<0. 2 A
2. Av a>2 kal B<5, 1678 (0—2)(B—5)>0. )3 A
3. AvO0<a<1710me & —a>0. )3 A
4. Av q,B oudéonuol ToTE: §+%22. 2 A
5. x*+9>6x yIa KGBe xeR. )3 A
6. [a Toug BeTIKOUG apIBUOUG a,B 1oxUel: af >0kal a+B<0. 2 A
7. Av a<-2,161e d* < 4. )3 A
8. ™™ +p* ™ >0 yiakdBe afeR. )3 A
9. Av §<1T6T£x<y. 2 A
10. o +(02—o)2 >0yla KGBs aelR. T A
11. Av a>B>3 101 0B >0. > N
12. Av a—-B>0 161 0a>3. 2 A
13. Av a>2 1618 0®" >0. s A
14. Av x>1 T10TE 2Xx—3>Xx—-2. 2 N

KaAn Toxn!

2téMog Miyomioyilov



14° AYKEIO MEPIXTEPIOY

KPITHPIO A=ZIOAOIMHZHZ XTH AIATA=H

OMAAA: A

ONOMA:. ..., ENQONYMO:....oiiiiiiiee

1. xX*+y*>0 yiaKGBe Xx,yeR )3 A
2. Av 0<x<17101E X*-X<0 z A
3. (a?—a) +0?>0 yia kaBe aeR 2 A
4, Av2<x<y T16TE XP>0 > 7AN
5. Av 2<x<y T6TE XW—y?>0 )3 A
6. Av X—yp>0T10TE X>Y > N
7. Av <1 161¢ a>p > A\
8. Avx>1 1618 X *>1 2 A
9. Av x >1 kal y<2 1071¢ (1-X)(Y-2) < 0. > A\
10.Av 0, <0 161 a+B>0Ka1aB <0. > N
11.Av X,y >0 16T1¢ : 5+X22. > N

y X

12. Ava>p3>5 161¢ af>0 > N
13.Av x>2 161€ 5X—3>4Xx—1 > N
14.1ox0¢g1 0TI X* +16>8x yio k6fe x e R s A

KaAn Toxn!

Y1éMoc MiyamAoyiov



